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AE 1101- FARM MECHANIZATION

Give a brief note on any five types of different seed metering mechanisms

present in planters.

Explain the prineiple of threshing mechanism involved in a combine harvester.

Briefly explain the operation of a tractor hydraulic system'

Give a brief description about internal expanding brakes.

A rear wheel rubber tyre tractor moving on a plane smooth surftce has a total

weight of 25 kN. The wheel base is 2000 mm. The centre of gravity is located

700 mm ahead of rear axle centre line. The pulling force provided by the

tractor at a height of 450 mm is 12 kN at a forward speed of 1.45ms-r. If the

output power of the tractor is 35 kW, determine the soil reaction on the front

wheel and the tractive. efficiency.
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